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FACTORISATION

Solved Examples

1. Factorise : 4m3n? + 12m?n? + 18m*n3

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_8RXMOaEBURRe

2. Factorise : 32(z + y)2 — 2z — 2y

o Watch Video Solution

2

3. Factorise:a” — ac + ¢ — xa + 6a — 6¢

o Watch Video Solution

2 2 4
i T ry Y

4. Factorise : + + =
9 3 4

[ o Watch Video Solution


https://dl.doubtnut.com/l/_8RXMOaEBURRe
https://dl.doubtnut.com/l/_sSCsKl1Jzy7Q
https://dl.doubtnut.com/l/_spZmPczds1YQ
https://dl.doubtnut.com/l/_gnpc14Qvfzjy

5. Factorise : 36z* — 842y + 49y*

o Watch Video Solution

6. Factorise : 81 — (z + y)°

o Watch Video Solution

7.Factorise : 16z* — y*

[ o Watch Video Solution


https://dl.doubtnut.com/l/_gnpc14Qvfzjy
https://dl.doubtnut.com/l/_PNrIScAUJFAF
https://dl.doubtnut.com/l/_ywyLoHSkMWfg
https://dl.doubtnut.com/l/_cCTGluhY9VJd

8. Factorise the following :

z2 4+ Tx + 10

O Watch Video Solution

9. Factorise the following :

z2 — 16z + 39

o Watch Video Solution



https://dl.doubtnut.com/l/_cCTGluhY9VJd
https://dl.doubtnut.com/l/_bds3snfq21KL
https://dl.doubtnut.com/l/_GVKGOnABF1ci

10. Factorise the following :

2 — 9z — 36

o Watch Video Solution

11. Factorise the following :

2 + 2z — 48

o Watch Video Solution



https://dl.doubtnut.com/l/_ydN5y5wYdQwE
https://dl.doubtnut.com/l/_QtRSErEh3qW2

12. Factorise the following :

6x> + 11z + 3

o Watch Video Solution

13. Factorise the following :

222 — 152 + 7

o Watch Video Solution



https://dl.doubtnut.com/l/_XUan63gVK5OC
https://dl.doubtnut.com/l/_3moAAxW9ahSD

14. Factorise the following :

5m? — 8m — 4

° Watch Video Solution

15. Factorise the following :

3a® + Tab — 6b°

o Watch Video Solution

8
16. Factorise : @® + —b°
actorise: a” + o7



https://dl.doubtnut.com/l/_Ke75jXVtpX7s
https://dl.doubtnut.com/l/_MA4R44Wt4YWB
https://dl.doubtnut.com/l/_rZF3FSe0kYiN

o Watch Video Solution

17.Factorise : a® — b° + 4(a — b)

o Watch Video Solution

18. Factorise : 922 + y4 — 6:cy2 — 2t

o Watch Video Solution



https://dl.doubtnut.com/l/_rZF3FSe0kYiN
https://dl.doubtnut.com/l/_BYQRbr4PHOwX
https://dl.doubtnut.com/l/_lt87LAkmRWf6

19. Evaluate the following without directly
multiplying :

102 x 105

o Watch Video Solution

20. Evaluate the following without directly
multiplying :

196 x 193

o Watch Video Solution



https://dl.doubtnut.com/l/_ZXyzYHp4kQtp
https://dl.doubtnut.com/l/_9OYbSnzTtEi3
https://dl.doubtnut.com/l/_TEls6ixbmNxT

21. Evaluate the following without directly
multiplying :

97 x 103

o Watch Video Solution

Question Bank 8

1.28yz — 21y3z* + 35y%22=

A. 7y2as(4z — 3yz° + 5z)

B. 7yz(4 — 3y’ + 5yz)


https://dl.doubtnut.com/l/_TEls6ixbmNxT
https://dl.doubtnut.com/l/_mIHtrohYMKto

C. 7yz(4yz — 3y + 5yz2)

D. 7y*2%(4 — 32% + 5)

Answer: B

° Watch Video Solution

2.(3a —1)° — 6a + 2=

A. (3a — 1)(3a — 2)
B.(3a — 1)(3a + 2)

C.3(3a — 1)(a — 1)


https://dl.doubtnut.com/l/_mIHtrohYMKto
https://dl.doubtnut.com/l/_r1X8uzdNdsSc

D. (3a — 1)(3a + 3)

Answer: C

o Watch Video Solution

3.2zya’ + 10y + 3za® + 15 =

A. (2a® + 5)(2y + 3z)
B. (za® + 5)(2y + 3)
C. (ya* + 3)(2z + 5)

D. (zy + 5) (2a” + 3)



https://dl.doubtnut.com/l/_r1X8uzdNdsSc
https://dl.doubtnut.com/l/_3V9Gn0oECzE8

Answer: B

o Watch Video Solution

4.:13y2 —y22 — wy+zz=

A(z—1)(zy — 2)
B.(y — 1) (zy — 2°)
C.(zy—1)(2* — y)

D. (y + 1) (zy — 2°)

Answer: B


https://dl.doubtnut.com/l/_3V9Gn0oECzE8
https://dl.doubtnut.com/l/_2NeuPxxSEG0n

° Watch Video Solution

5.2° + (a + b+ c)x + ab+ bc =

A(z+a)(z+b+c)
B.(x + ¢)(x + a + b)
C.(x+b(z+a+c

D.(z 4+ a)(x +b—c¢)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_2NeuPxxSEG0n
https://dl.doubtnut.com/l/_Kc28EVsXETNY

6.9z + 30z + 25=

A. (3z 4+ 5)(3z — 10)
B.(3xz + 5)(3z + 5)
C. (3z + 12)(3x + 13)

D. (92 + 5)(z + 5)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Kc28EVsXETNY
https://dl.doubtnut.com/l/_O1xHRgzzlWpc

7.16a’> — 56ab + 49b> =

A. (4a + 7b)(4b — 8b)
B. (2a + 7b)(2a + 8b)
C. (4a — 7b)(4a — 7))

D. (4a + 7b)(4a + 7b)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_AF4JWWBgPy4E

9
8.4:32—656—|—Z= _______

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_SjuKC0SVvFpF

C.(y—2)(y+2)

D. (y +2)(y + 2)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_PffV6PztZAKm

10.121 — 16a2b? =

A. (11 + 16ab)(11 — ab)
B. (11 + 16ab)(11 + ab)
C. (11 — 4ab)(11 + 4ab)

D. (11 — 4ab)(11 — 4ab)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_suu1aa9j0mTk

» 49a> z?
T 25b2  100y2 T

(E)ED)
"\ 5b 10y 50
(223 3)
ba 10y 5b Y
c (70, N x )(7a K )
"\ 5b 10y 506 10y
D(7a+ x ><7a_ x )
"\ 5b 10y 56 10y

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_TephWkPqYqVm

12. 2% — 81=

A (z* +81)(z* — 1)
B. (z* — 9) (z* — 9)
C.(z +3)(z —3)(z* +9)

D. (z° — 9)(z + 3)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_SqUIJdRCUNko

13.27a% 2% — 48b°=

A.(9azx — 16b)(3azx — 3b)
B. (3ax + 16b)(9ax — 3b)
C.3(3ax + 4b)(3ax — 4b)

D. 3(3ax + 6b)(3ax — 4b)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ftQqDPWEGokH

14.16(z + y)* — 4y? =

A. (4z — 2y)(4z — 2y)
B. (4z + 2y)(4x — 2y)
C. (4= — 6y)(4z + 2y)

D. (4z + 2y)(4z + 6y)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ch7R702LfvuI

15.9a% — (2b — ¢)*=

A.(3a —2b—¢)(3a+2b—¢)
B.(3a + 2b—¢)(3a — 2b + ¢)
C.(—3a+2b+c)(3a+ 2b—c)

D. (3a + 2b + ¢)(3a + 2b — ¢)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_GkXW52Ny63wy

16.9a2 — 24ab + 160> — 422 =

A.(3a + 4b — 2x)(3a + 4b + 2s)
B.(3a — 4b + 2z)(3a — 4b — 2x)
C.(3a — 4b — 2z)(3a + 4b + 2x)

D.(3a — 4b — 2x)(3a — 4b — 2x)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_BAwhfDabSX0M

17. 2% + 6zy — 22 + 9% =

A (z+ 3y — 2)(z + 3y — 2)
B.(z — 3y + 2)(z — 3y + 2)
C.(x+3y+ 2)(x+ 3y — 2)

D.(z — 3y — 2)(z — 3y — 2)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_zJvx2Uqdp34N

18.25a% — 4b% + 5a + 2b =

A (5a + 2b — 1)(5a — 2b)
B. (5a + 2b + 1)(5a — 2b)
C. (5a + 2b)(5a — 2b — 1)

D. (5a + 2b)(5a — 2b + 1)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_uZu0oHAGXMDy

19.w2+y2+2:cy+yz+z:c=

Alx+y+1)(z+2)
B.(z +y)(z +y+ 2)
Cle+y—2)(z+1)

D.(z +2z—1)(xz +y)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_DE4kf0JsSIBz

20.(a + b)* — (b — a)’

A. (2a + 2b)
B. (2a — 2b)
C.4ab

D. —4ab

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_HmcQvzqO3gtM

21.22 + 11z + 24 =

A (z+6)(z+4)
B. (z + 12)(z — 20)
C.(xz + 12)(z + 2)

D.(z + 8)(x + 3)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_toqTbs9FA4t4

22. 22 — 222 + 40 =

A (z — 10)(z + 4)
B. (z + 2)(z — 20)
C.(z + 10)(z — 4)

D. (z — 20)(x — 2)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_iP30TsiEbV2F

23.m% — 5m — 36 =

A (m 4+ 9)(m — 4)

B.(m — 9)(m — 4)

C.(m+9)(m +4)

D.(m — 9)(m + 4)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_B2fxV24NUMq4

24.a% + 150 — 54 =

A (a+9)(xz — 6)
B.(a — 18)(a + 3)
C.(a + 18)(a — 3)

D.(a — 27)(a + 2)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_HsVimVgs3h7b

25.22% + 11z + 14 =

A (2z +2)(xz +7)
B.(2z + 7)(x + 4)
C.(2x + 7)(x + 2)

D.(2z +4)(z + 7)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_N0DQym1CNxIY

26.222 — 13z + 15=

A.(z —5)(2z — 3)
B.(z + 5)(2z — 3)
C.(z+5)(2z + 3)

D.(z — 5)(2z + 3)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_wq9chRz5MmCG

27.322 + 11z — 4=

A (3z — 1)(xz + 4)
B.(3x — 1)(z — 4)
C.(3z + 1)(z — 4)

D.(3z + 1)(z + 4)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_6xRGrU7tUM3N

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_i2nuz4Dly4R3

A (2z + 1)(4z” — 2z + 1)
B.(2z — 1) (42® — 2z + 1)
C.(2z — 1)(42” + 2z + 1)

D. (2z + 1) (4z” + 2z + 1)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_5Fg8AaUIlC84

30.a° — 0.216 =

A. (a — 0.6) (a® + 0.6a + 0.36)
B. (a® — 0.36) (a — 0.6a + 0.6)
C.(a — 0.6)(a® — 0.6a + 0.36)

D. (a® 4 0.36) (a + 0.6a + 0.6)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_htyT12NzJwzc

31.Factorize:a® + 8 +a + b

A (a+b+1)(a® —ab+b%)
B.(a + b)(a® —ab+b* + 1)
C.(a>+b)(a+b—ab+1)

D.(a — b)(a® + ab+b* + 1)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_CpVFSJkTEFcH

32,2522 — (zcz — 36)2=

A(z —4)(x+4)(z+9)(x—9)
B.(x —4)(4+ z)(xz + 9)(9 — z)
C.(z+4)(z+4)(z—9)(x—9)

D.(x —4)(4 —x)(z 4+ 9)(9 + =)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_YrS9bJzCR3J3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_7i1l8HlKLSM8

34. 2% — %y% — T2y=

A. (a32 + 9y2) (a:2 — 8y2)
B. (x + 3y)(z + 3y) (mz + 8y2)
C.(z + 3y)(z — 3y) (:I:z + 8y2)

D. (:c2 — 9y2) (a:2 — 8y2)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_OGitmlPv4bN1

A. (:c2 + 9) (a:4 — 9z% — 81)
B. (2° — 9) (z* — 92 + 81)
C.(z +3)(z — 3)(z* + 92° + 81)

D. (:c2 +9) (a:4 +9z° + 81)

Answer: C

O Watch Video Solution

Self Assessment Sheet 8


https://dl.doubtnut.com/l/_aAFBPdY5Vq0G

1. Which one of the following statements is
not correct ?

A.a® + b? cannot be factorized

B. (a — 2c) is a factor of a® — 4a*c?

C.2x + 7is a factor of 8z° — 27

30>-13a-10 a-5
. 9a2 — 4 - 3a—2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_KX7XpoE5wMPL
https://dl.doubtnut.com/l/_GKJWfFHK6zyo

2. p(q2 + r2) — q(r2 + pz) can be factorised
as

A. (P + q) (r2 — pq)

B. (p — q) (* — pg)

C.(p— q) (pg — 7°)

D.(p—qr)(p+q)

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_GKJWfFHK6zyo
https://dl.doubtnut.com/l/_tA94ChtiHwdn

a® — 64b°

. = 7
a? + 3ab — 28b2

a—>b
A a+ 3b
a’ + 4ab + 162
a—+ 7b

C.(p—q)(pg—1°)

D.(p —qr)(p+ q)

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_tA94ChtiHwdn

4. Factorise : 16(a — b)° — 24(a — b)* . The
factors are:

A.4(a — b)(2a — b — 3)

B.8(a — b)*(2a — 2b — 3)

C.8(a —b)(2a — b — 4)

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_tfNHVSo3fcLB
https://dl.doubtnut.com/l/_i6bF69It9RB8

. o 22° — 2z
5. Factorise and simplify : 53 £ 2 .The
T T

answer is

Azz-—1

B.a:2+1

Cx—1

D.x + 1

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_i6bF69It9RB8

6. Factorise : 16 — z® — 2zy — y* The factors

are

Ad+z—-—y(@d+z+y)
B.(4—z—-y)(4—z+y)
CR+z+y)(2—2z—y)

D.(4+z+y)4—z—y)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_6Gjfr59phmYg
https://dl.doubtnut.com/l/_rk1phI3BcDaY

7. The area of a rectangle is
12y* + 28y3 — 532 If its length is 6y® — y° ,
then its width is

Ay—+95

B.—2y+5

C.—2y> +5

D.2y + 5

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_rk1phI3BcDaY
https://dl.doubtnut.com/l/_m3U3t7PS5Aao

8. Factorise : n°> — 3n — 2, given thatn + 1 is

a factor .The factors are

A (n+1)*(n—2)
B.(n+ 1)(n — 2)°
C.(n—1)>%*n+2)

D. None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_m3U3t7PS5Aao

9. What are the possible expressions for the

dimensions of the cuboid whose volume is
12kx? + 8kx — 20k ?

A.k(xz +1) and (3z — 5) units

B.4k(xz — 1) and (3z + 5)units

C.k(x —1) and (2y — 5) units

D.4k,4(x + 1) and (3z + 5) units

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_D5nsQUeBNKRd

10. Factorise : 8z° — 27y> — 2z + 3y : The
factors are

A (2z — 3y) (42 + zy + 9y° — 1)

B. (22 — 3y) (4:1:2 — b6y + 9y2)

C.(2z — 3y) (4z® + 3zy + 9y° — 1)

D. (2x — 3y) (4:c2 + 6zy + 9y* — 1)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_T4ZrtaZncZTU

